(3) SAT-3

I qiraaT e
 SCHOLASTIC APTITUDE TEST
39 AFT-TF § Tl 100 WIA & | WA WIT TH 34 B T
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.
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Consider the following fi graphs ( note the axes carcfully ). Which of the
following represents mbtion at constant speed ?
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SAT-3 ' (4)

2.

- (3)  metre (4) metre

mWMﬁ@aﬁﬁsoumwaﬁwrﬁﬁ 100 ms™ ! & AfF AT |
SIS Sl § |a§$%ﬁ®aﬁmanwm ?

(1) 100 ms™! (2) 500 ms™~

(3 05ms! ' @) I

A bullet of mass 50 gm is horizontally fired with a velocity 100 ms~ ! from a gun |
of mass 10 kg. What w111 be the recoil velocity of the gun ?

(1) 100 ms™! (2) 500ms” '
(3} O5ms (4) Zero. 0}

@ﬁzaﬁﬁmﬁmﬁﬂméﬂﬁmwaﬁaﬂ?ﬁmm%

e 117 gRT U Sfuenad S g :
(1) 707 HX (2) 1414 0
(3) 200 HeX _ (4) 400

A ball is shot vertically upward wi iven 1nitial velocity. It reaches a
maximum height of 100 m. If on a second shot, the initial velocity is doubled
0

then the ball will reach a maximun @
(1) 707 m %\ 414m

“(3) 200m 400 m.

aﬁg&sﬂmmﬁM Rﬁmﬁﬁwﬁr%?ﬁgﬁwwg/e
A & C‘

(1) R%/M M/R?

3) M/R (4) R/ M.

Let M mass of earth and let R denotes its radlus The ratio g/ G at
e urf s '
() RN 2) M/R?
(3) M/R (4) R/M.
T &S W9H &
(1) Y (2 WHrz-!
@) H= 4) HReL
The unit ‘hertz’ is same as |
(1) second (2) second ™ !
1
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6. fodt wafy i @ amaft 10 kHz UF TR 3 mm ¥ | 3rﬁztaa#fra3ﬁrcm
T o 2 |
(1) 01¥FTS @ 1%%E
(3) 10 THUZ , (4) 001 ¥FTS |
A sound wave has a frequency of 10 kHz and Wavelength 3 mm. How much txme
will it take to travel 3 metre ? '
(1) 01 sec B (2) 1 sec
(3) 10 sec (4) 001 sec.

7, %ﬁwmmmﬁaﬁqﬁﬁawmﬁa%mﬂéﬁw femr =t
fRafer geit

() FW _ 2) FINCcFIH

3) CW 4 Cc3R W%Q
" The size of image formed by a concave mirror is @h size of 6bject. The

position of the object will be

(1) atF (2)  between E C
3 atC ' (4) n C and infinity.
8. UH 301 o4 Hl By A 30 T ¥ | mlsﬁﬁriﬂwmz’rzﬁ

oI gRT e e & )
(1) 666 ’ \
3) 1 \ @4 2.
A convex lens has focal¥length 30 cm. If an object is plécecl at a distance of
- 15 cm from it the ication produced by the lens is ' >
(1) 666 ' 05
. 2.
9. uﬁﬁumx%w&mﬁméqammaﬁawﬁ
b 2 %
2K
(3) K/2 (4} K/4.

The electrical resistivity of a coniducting wire is K. If its length and area of cross-
section are doubled then the new resistivity of the wire will be 7

y K 2) 2K
(3) K/2 @4) K/4.
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11.

ﬁt}ﬂﬁqﬁwﬁAaB%mﬂwﬁﬁaw% ?

1a . 20
| 1n 22 |
(1) 1we @ 4
14 174 =
(3) 53 0 . @  Fa. \
What is the equivalent resistance of the given circuit betwee Aand B?
1a 29
e
A Er e
_ 12
(1) 100 (2} %
14 1
@ Fo 4 =
momzémao—q'maa% aﬁ%ls‘aoqﬁ'fkwnaﬁﬂﬁsoﬁ?
T TN F o S =

(1) 360 ®o 90 Bo
(3) 120 Bo 400 To,

4 bulbs rated 10; ach, operate for 6 hours per day. What is the cost of the

energy cons 0 days at the rate of Rs. 5/kWh ?

(1) ’ (2)  Rs. 90
@ 5 (4)  Rs. 400.

ﬁfaqaumw%ﬁs‘rtﬁ% l%ﬁaﬁAasmﬂwﬁawT@?ﬁﬁ
¥ Y
A
B

v

(1) geat faeifud ==t g
(2) %o T & gs faeifua gt

(@) T g T fen A fawife i
@) SF gl i few o faefm B o
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An electric current is passed through a straight wire. Magnetic compasses are

placed at the points A and B. True statement is

(2)

(3)

(4)

Ae
B~

>
>

their needles will not deflect
only one of the needles will deflect

both the needles will deflect in the same direction :\

the needles will deflect in the opposite direction.

. aﬁﬁanafawaﬁwwmwam\@w%wﬁmmﬁ

fordt forg x & wfw o T2 1 fordlt o g 7

(1)

(3)

point X in 3

w1

‘cﬂ'ﬁ (@)

e

& K (4) sngfﬂ

er given point Yin glass ?

Which diagra:@usﬂatcs the path of a hght ray as it travels from a given

(3)

4

] Ty

() air

glass

i
o
@
!
-
~

3
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=
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' SAT-3 C(8)
14, emifefaa sfafear & Hol 1 g aRE
' HCI (aq) + H,0 - Cl” (aq) + H,0"
(1) HO" (@ HO0
3 C1° ' (4) HCL

Conjugaté base of HCl in the following reaction is
HCl(aq)+H,0 > Cl™ (aq) + H,0"

(1) H,O" 2 -H,0
(3) C1” (4  HCL
15. TR 3w IR F TEEHE G § O

(1) CaSO 2) CaSO,.2H

4 23N
(3) CaSO,.Y2H,0 4 Ca .1@)

The chemical formula of Plaster of Paris is

(1) €aso, o (2 aS0,.2H,0
(3) : CaS0,.H,0.

16 aifeiEd sifafwmar & wdHte IORE € 2
CHCI, +o2 ' y SHel

(1)

@) K . (4) W IORE b
Which type of @
- CHEL; 4 200012 + 2HCI

&@e catalyst - {2) Negat.we catalyst

s ethanol in the following reaction ?
sOH

(3) Bio-catalyst ({l) Autocatalyst.
17. 3mifefEd o @ 396 & '

(1) @i 2 W

@ Wfemm , @ Tt

Metalloid among the following is -

(1) lithiﬁm 2) sulphur

(3) sodium . 4) silicon.
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18.

19

20.

21.

(9) SAT-3

CH, ~

CHz >C = CH, =y [UPAC T &

(1) 1, 1-SEAMA-2-TIH (2) 2-Afer1-mde
@) 2, 2—3@1@1?’[@?‘ @  2-Afe dE2E |

The IUPAC name of CH, >C CH

(1) 1, 1-dimethyl-2-ethene (2 2—methy1— 1-propene

(3 2,2 dlmcthyl ethene (4) 2-methyl prop-2-ene
e a7eet Ud YA SRUHA % WO ¥ S 9geT € O\
(1) STEEHE @ &H O

(3) e . 4 AEeE-6, 6. Q
d%ﬂethylene diamine.is
(3) terylene

mmaﬁﬁmm&?ﬁmaﬁ aﬁﬁ%ﬁx%

The pblymer formed by condensation of adipic acid;

(1) isoprene (2) rayon

(1) maqma:f

(3) (4)
The method for separ @&mmmm of common salt and ammonium chloride is |

(1) fractlonal distill sublimation

chromato.' crystallization.
14 g @eﬂaﬁ T a’m"r

(1) 6023w 1023 2) 3011x 102

3) 151 x 102 4) 6022 x10%2

Number of molecules present in 14 gm of N, molecule is

(1) 6022 x 102 @ 3011x10%

3) 151%10% 4) 6022 x 10%?

NTSE(I)/18 - SAT-612-C [ P.T.O.
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22.

23.

24,

2, 8, 6 FAfAiEd H § T I &1 Toagie o & 2

(1) R (2) A

(3) TIRRY )  FERE |

Which of the following elements has an electronic configuration 2, 8, 6 ?

(1) Sulphur (2) Oxygen

(3) Phosphorus (4)  Chlorine. - \

FifeiiEa o ¥ SH-91 e GRe=eiier GarTehar Y&
(1) Na = (2) Mg Q
3) Fe @  zn. 0

Which of the following elements shows vagiable yalency ?

7(1) Na (2} Mg
(3 Fe . %Zn.

- Ueiftrem FeHe g ‘\

(1) Al,(cCo,), (2)  Al,CO,

(3) ALHCO, & (4)  AICO,.

Formula o\ m carbonate is
m @ (2 ALCO,

co, | (4)  AlCO,.
25. SEVE K- ch | |

61 QN (2) CF,Cl,

(3) CFCl, | (4)  CCI,F.

Formula of Freon-112 is

(1) C,F.Cl, | (2) CF,Cl,

@ CFCl, . (4)  CCLF.
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26. W X TR & W™ uﬁ%mm%aaﬂfaﬁumnmﬁmzﬁﬁmm% |

daX ¥
(1) OEREe 2 WH
(3) THEA @ Tt

The element X reacting with chlorine forms a water soluble compound having

- high melting point. Element X is

(1) magnesium (2) argon \
§3) carbon (4) neon. O
27. Al % YO foerds § @A S wman e § 2 O

(1) WEH (2) ma\Q
@) TREE @ 0

Which tissue is found in fibrous covering of

(1) Parenchyma (2) llenc a

(3) | Sél'erenchyma 4) %temaﬁc tissue.
28. Fiw F dwE A @A

() e E*

(3)

()]
Nucleus of the cell ®&covered by
Robert H%

(3) Rober.'n @)  Virchow.

20, Faygﬁ? |1 R §HE & 2
2) ORI

3) URAHRMA @) TR |

Which of the following is a plant hormone ?

,Lpeuv;lenhoek'

(1) Insulin (2) Thyroxine
(3) Cytokinin (4) Oestrogen.
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30.

31.

32.

o # IR oW} SE3EEES % wR & uia sifuw dadt uky wg &
(1) Sel®rEeT 2) ©EHA
(3) Reiwmer (4) et

Plant group more sensitive to the levels of sulphur dioxide in air is

(1) Thallophyta (2) Lichen
(3) Pteridophyta (4) Gymnosperm. O\

TEaNT, FIEER TN HIS TU % I & O
(1) TR, AT 2) e, &g
(3) Higehy, UizAd9 (4) |

Examples of perennial, evergreen and woody plants are

(1) Funaria, Marchantia arsﬂea, Horse-tail
(3}  Cycas, Pinus % Ulothrix, Spirogyra.
et 1 i = T \

(1)

(4)  Ticet A |

Turgidity of \@Lﬂtmned by
Vac

(2) Lysosome

4 @d (4)  Golgi body.
33. UHNTE % foiu Evas verd @i &

(1) T4 F T (2) ARG

(3)  TgZISH (4) A IRHEES |
The substance not essential for photosynthesis is

(1) sunlight (2) chlorophyll

(3) nitrogen (4) carbon dioxide.
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35.

36.

37.

(13) SAT-3

RT3 Y MBI oo, et € |

(1) TEEHE 2 T=EE

(3)  SHEe-TEE (4) dgETEEE |

The nature of nerve impulse is

(1) chemical (2)  magnetic

(3) electrochemical (4)  electromagnetic.

ikl 3Tt Seget STl T ITER0T § \
(1) i (2 gy OO

3) 3SHER (4 TER Q
The example of uricotelic animals is 0
(1) fishes 2) reptil%

(3) amphibians (4) %unals
HUSEH o HATAR THAR G H F, W& A &

3 1:1 4 1:2:1.
According to Mendel in &ohybrid cross the genotypic ratio of F, generation is

(I} 331 \@ 2 9:3:3:1

3) 1:1 4) 1:2:1.

(1) o (2)  hehrer aeht

(3) igat = @) it S |
Example of connective tissue is

(1)  cartilage (2)  skeletal muscles
(3) skin of animals 4) nerve cells.

NTSE(I)/18 - SAT-612-C [ P.T.O.
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38. 32 & o) WHUR] T IGEIVT &

(1) TR (2) &

(3) IR (4)  ulws

The example of egg laying mammal is

(1) Bat (2)  Kangaroo

(3) Pigeon (4) Echidna \
39, 3THhS T ¥ O

(1) HW (2) UEH O

(3) 3mHiemuiEw (4)  diferar 1(\)0
Non-communicable disease is %
(1) Cancer (2) AID

(3) Amoebiasis (Qundlce
40. %@m%mWﬁﬁ%&

(1)
'ﬂﬁFﬂHﬂ |

Animals of whic m are pseudocoelomate ?
(1) Ponfe Platyhelminthes
Asc (4) Mollusca.
41.& _a+J'ba’ra’r,/a+b T A1 41 §F Sie q 9 b YT dEd
2 8
(3) 2 (4) 16.
3+ QJ_ .

If - ala a + Y3 b, then the value of Ja+b where @ and b are rational

numbers is

1y S (20 8

@ 2 4) 16.
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a2 kK O p % fHT YIHe AAI & folw @il 2x2+ px + 8 = 0T

43.

p(x2+ x )+ k = 0% JoT GO &Ft ?

(1) k=1, p=4 2 k=2, p=8

(3) k=4, p=8 4 k=2, p=4.

For which positive values of k and p, equations D4 px+8=0and

p(x2+ x )+ k = 0 have egual roots ?

(1) k=1, p=4 2) k=2, p=8 \

8 k=4, p=8 4 k=2, p=a4.
A o, p TG x2 - p(x+1) -k b I T THR & 6 ( Ql)—e%a’r
k &1 JH &P Q

m s @ -1 %

@ -3

If a, B are zeros of polynomial x? .p(% such that (e + 1) (B+1)=6
then value of k is \

1) 5

) s @ 2 8
3 1 4 9.
Which is unit digit of 618 — 5192

(1 3 @ 8

@ 1 4 o
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45. T FFfa A Or L PRAYT S = PSE | A L TQR = 40° T L RPS = 20° & Al x &
T &

P

(1) 80° (2) 25° \0
(3) 15° 4  35° Q
In the following figure QT L PR and QS = TQR = 40° and £ RPS = 20°

then value of x 1s

3t 20, 19%,181, ..... T -9 U8, TIH RUTHE 9§ B 7

(1) 187 (2 158t

(3 284 () 27|

Which term of A.P. 20, 197}, 18-;—, ..... is first negative term ?
(1) 18th (2)  15th

(3) 28th (4)  27th.
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47.

49,

(17) SAT-3

12 et S © R % Pl st R @ Fagait @ WA % Rt 3 e B
T 0 § | AR T IR F g HNR F IR Y 16 m T &, @ W g A IER
& R F g @l

(1) 24 HX ‘ 2) 9 "X

(3 12 "R @) 18 HiE |

The .angles of elevation of the top of a 12 m high tower trom oirits in
oppoSité directions with it are 'complementary If distance o ‘ t from its

base is 16 m, then distance of second point from tower@g

(1) 24m @ 9m%()

(3) 12 m N _1- ] '
ﬁm:MHﬁT'n=E‘f’—4~ﬁ,‘ﬂT( ﬁbsgB WIS &N
: cos B sinB "

K then m? + n’ )cos B is equalto
(1) "*Qc>
.'(3)&11
o < Ty il #) S w1 ST 4 ¢ 9 B, 7 A 35 Lawedt 1 ST €
(1) " 2:3 . (2) 5:2_

(3) 81:16 4 16:81.
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SAT-3 | (18)

50.

51.

If ratio of heights of two similar triangles is 4 : 9, then ratio between their areas

is

m 2:3 @ 3:2
(3) 81:16 @ 16:81.
1oﬁm%wqﬁﬁ,ﬁﬁmﬁ43=fic=12cmﬁ, C B T
T e 2 O
(1) 12 & 2) 969 \Q

* O

(3) 19-2 |t @ 7

In a circle of 10 cm radius, two chor ' C = 12 cm. then the length of the
chord BCis '
: .
(1) 12cm 96 cm
(3) 192 cm (4) 7'2cm
10 AT fawe TR 120 @, 399 4 wuH 5 faun de3i & " &

@ 2) 115°

(3) 114 (4) 116.

If mean of ten consecutive odd numbers is 120, then the mean of first five odd

numbers among them is
(1) 113 (2) 115

3) 114 4) 116.
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52. ﬁﬂ%é@%ﬁmmwww,maﬁmcbsﬁwmﬁ%

e it 3 2 Rt it a8t e T R g e R A
D C

e O\

() 230 =t e @ ARt O

3) 600 =t T _ @) 100 aﬁmg , Q
Fmd the area of shaded region, where side of %4 D is 10 cm and two

arcs drawn from two opposue vertices of
D

B

\® 10 cm ‘ '
[ -2, uro 2) 299 unit

7

s@ 4) -1-97—0-squn1t

53, 14 I S T v FoA SR ATETE ¥ LF geER A ¥ = 4 A aw
R S S g e S
(1) lgﬁﬁﬁri” @ 3%@14'13
(3) 112 @2 4) giglﬁ'ﬁz.
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Find the capacity of a glass which is in the shape of frustum of height 14 cm and

diameters of both circular ends are 4 cm and 2 cm.

308 3 298 3
(D —3 - com 2) <51 m
(3) 112 cm? 4) 2221§- cm?.

54, w&ﬁ%ﬁﬁgP(2—53,3—53),ﬁ73A('3,S)WB(x,y)aﬁfqﬂﬁ’fEN@ABaﬁ
23 % ST F o Fas Y o x oy B T :O

(1) x=4, y=7 2) x=5,y=9Q
@ x=7 ()

B) x=7,y=9

23 33
5’5

internally in ratio of 2 : 3, then the v Wd y will be
*
(1] x=4, y=7 \ X 5, y=9

B x=7,y=9 (4) x=7, y=8.

55. 3§ UF #AT a9 & =g forar T 1, ot 39 9N ° 53 WHAR §F ® migear

w1 gl 2 O\

If a point P ( ) divides line AB joining two péints A (3, 5) and B ( x, y)

1y i @ 2)
3 R @ 2

3 365

NS

If a leap year i elected r. lomly, then what is the probability of having

53 Mondays in this year ?

I @ 2
e = @ 2=

366
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56. - fFel g i AR, 39 9 § 60 Tt st @, @ I I A Ry W o
gt
(1) 14mcm (2 28 T cm
(3) 35Smcm 4 42 1 cm.

If the length of circumference of a circle is 60 cm more than its diameter, then

length of its circumference is
(1) 14acm @) 28 n cm

(3) 35ncm (4) 42 n cm.

57. ﬁ&ﬂﬁﬁgﬂABcﬁADaBEﬁwaﬁmﬁaaﬂQ@@% Gtﬂtﬂ%@ﬁﬁ
el %IqﬁABDGWWIHﬂﬁﬁﬁaﬂ% EIEET T AT 2

(1) 2@t e %\rz rsaﬁ@ﬁ"r
G 4 =T 9t @) 17 qur

In given A ABC, @) BE are medlans of triangle which mtersect each other at

Gis 1 cm? , then what is the area of DCEG ?
A

point G. If are

2

(1) 2cm

(3) 4cm?

NTSE(])/ 18 - SAT-612-C | [ P.T.O.



SAT-3: (22)

58.

59.

60.

60° 30/ T FT e § I R @ 2

- aC 121 ¢
3 (2 360"

121x° ' 21 e

® o @ 5"

What is the radian value of angle 60° 30/ ?

m 5 S

(3) %i @ g
Wﬁﬁ%mﬁzmaﬁﬁmﬁwmg&ﬁ\@?mﬁmﬁ
S ?

(1) 25% 2) 56

(3) 4375% (4) -5%.

The diameter of a sphere is decrc 2 %. By what per cent does its curved
surface area decrease ?

(1) 25% X 56:25%

(3) 4375% 62:5%.

(x—y)® + (

(1)

(2)

(
(4)&%+y + 2% - 2x%y - 2y%z - 2z°x.
Value of (x—y)® + (y—-2)3 + (z—x_/):"is
1) (x-y)% (y-2)° (2-x)%

(2) 3(x-y) (y-2) (z—x)

3 %3 + y3+z3;3xyz

(4) 3+ yd+ 28— 2xy - 2yz 2z2%x.

NTSE(I)/IS SAT-612-C
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61. Ge-I ﬁ@-n@gﬁ%ﬂﬁﬂﬁ_@ﬂﬁéﬁmwﬁﬁq:

-1 qEt-1
() TRE R @ AfayH @)  205M, 1789
(¥) SR T TEH gam (i) 4 3T, 1789
() T WA e H I (i) 14 TS, 1789
(3) ™9 HE = IOy (iv) 5¥s, 1789 |
Te | | \
R O

1) i ii it iv

(2) iv iii - S i ()Q
(3) iv i ii iii %

(4) i iv il i ;
Match ListI with List-I comcﬂj@osc the correct code from the

following : *
ListI List-Il

(A)  Meeting of the Estafes Genleral (i} 20t June, 1789
(B) Bastille wa deén (i) 4th August, 1789
(C) Abolish eudal system in France (i) - 14th Jﬁly, 1789
(D) ‘Swo lIQi-s. Court (iv) 5th May, 1789.
Cod&@

A B C D |
(1) i ii i iv
2) iv i ii i
3) iv i i i
@4 i iv iii i

NTSE(I)/18 — SAT-612-C , ' [ P.T.O.



s 5 B -
62. YIRA & 98 (T Sl Sorgrare ant ferm €, §
(1) @i 2) I W
3) U @) e

The state of India where the Jallianwalla Bagh is situated, is

(1) Haryana (2)  Uttar Pradesh
(3) Punjab (4)  Rajasthan. \

63. 187130 H STHA! 1 WHE &1 e O
(1) ot g (2)  iferE O

(3) heRe faferam wqe (4)

The German King in 1871 was

(1) William I @epolem I
() Frederik Willlam IV Emmanuel II.

64 ﬁéﬁnﬁqwaﬁw

(1) : (2) oo Frebew

3) K @ o e |

o \Qem iyt

(2) T.E. Nicholson
Qaael Samuel (4)  James Hargreaves.
65. S W1 oy o
(1) 1903 @ 1905
3) 1907 4) 1‘9'09.

The year of the Partition of Bengal was
(1) 1903 (2) 1905
(3) 1907 (4)  1909.

NTSE(I)/18 - SAT-612-C
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66. Fretfofad & & H-a ww 3w firm gt F ekt et e o

(1) e @
@ (4) ST |
Which one of the following countries was not among the Allied Powers.?
(1) England (2) France
(3) Russia 4) Germany.

67. ST TS1Z ATHeh YT S SR &d I[E g1 2 \
(1) 1750 | 2) 1780 O

(3) 1850 @) 1880. O

When was the publication of'Bengal Gazette initiaC

(1) 1750 | @ 17%
3) 1850 | 4 188

68. f7 fagali m aam &

(A) TETHT T 3 78 WWW{}FH%I
(B) 20 3TV, 1930 ! ST S SIet | A F drer |
:ﬁﬁfa&m}@ T T

(1) e \g’ (2) %9 (B)
(3) (&) Tl 4 TS FE

Co lowing points :

{&ahatma Gandhi started Salt March with his 78 confidential volunteers.

(B} Mahatma Gandhi violated the Salt law at Dandi on Apri] 20t 1930.
Choose the correct answer from the codes given below :

(1)  only (A) (2)  only (B)

(3) both (A) and (B) (4) none of these
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69. WA H SIS T b 5 % W1Q W gam ?

(1) FEUsh 1 gg (2) UMY * gF

@) g @ il e R g

After which war the British rule was fbunded in India ?

(1) Battle of Sabrao (2) Battle of Panipat

(3) Battle of Plassey . (4).  Second Anglo Mysore w\
70.. EHI fovea gl & e anfele merdl wf geed g8 O

(38) 1935 (4) 1939.

(1j 1921 | (2) 1929 O

‘When was the Great Economic Depression een the two World Wars held ?

(1) 1921 2 1
(3) 1935 939.

71. 3R U3 Y W& fha &Y 2
(1) \ Rt ST
(3) HETeA dfwd 9% T |

Who composed An Math ?

@gore (2) Munsi Premchand

dhi (4) Bankim Chandra Chattopadhyay.

(1) Rabinds

72.
WeE A (2) ¥R % Howre §
@) SWF @ REE @) wEEdE er
‘Khadar’ is found in

(1)  the northern mountain region

(2) Thar desert

(3)  the vast northern plain

(4) the peninsular plateau.
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73.

74.

75.

(27) SAT-3

TR R H we a¢ R @ I e ¥
(1) S (2) TEE
(3) SISeTX (4)  Peell |

The rising place of the largest river of peninsular plateau is

(1) Betul (2)  Nasik \

(3) Jabalpur (4) qudalorc. O
qﬁaﬁmmmﬁaﬁwawmwa\@

(1) 100 ¥ 150 ¥H (2) 150#2

(3) 200¥250WHA (4) e |

The quanﬁty of rainfall received n rm Ghats by south-west monsoon is
(1) 100-150cm @ 150 - 200 cm

(3) 200 250 cm above 250 cm.

IR & ®H § maé\‘s%q&wﬁaﬁ%a

wvﬁwﬁaﬁ @) UEdg =
(4) TR GEEER e |

In which Indian forest are silver, fir and pine trees found ?

- (1) Tropical deciduous forest (2) Montane forest

(3) Mangrove forest (4) Tropical evergreen rain forest.
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76. |qdl- Iarhﬁﬁ u@gﬁﬁﬁaﬂﬁgaﬁﬁﬂwﬁm

g -1
(1) I BN ) ‘.
(7) =Rl 8] ()
(®) B - (idi)
@ qﬁﬂfﬁ@ﬁ (i)
F :
¥ & T T
(1) i i v i
@ i i v i
@ i i iv i

68° 7' 9o

‘qsi"rn

8° 4/ 3o

37°6' 30

97°25' 9o |

(4) i il i iv. Q
. ‘ . -
Match List - I and List - “eHoose the correct code from the following :

List-1I

() Nortl'&end | )
® @’m end i
astern end (i)

(v

«Q Western end

A B C D

i @ v i
@ i @i iv i
@ i i v il
@ @ @ i v
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77. T d Q -G TS W T IR T 2
(1) SR U= 2) ToEE
(3) uf¥em s 4) AW |
Which of the following is the major sugarcane producing state ?

(1) Uttar Pradesh (2) Rajasthan

(3) West Bengal _ (4) Madhya Pradesh. \
78. a@w%mﬁm@ﬁwmﬁmm&m%? O
(1) o sEws @ e O

(3) _' s (4) SEEREE | Q

Important deposits of which mineral are found i

(I) Iron ore

(2) Coal
(3) Copper (4 Qt&
79. et T W e T P %&nﬁm w2

(1) 1853 ) 1854
(3) 1855 & 4) 1856.
In which year wag t st successful cotton textile mill established in India ?
(1) 185 O 2) 1854
(3 8@ (4) 1856.
g0. s # Frrm At 2000 F Wi W E
(1) T o

(2) hfEt & gewr e
(3) ﬁ’ﬂﬁﬂﬁ'{ H 30 & T FET
(4) IR & SR TG |

"SE(1)/ 18 - SAT-612-C [ P.T.O.



SAT-3 (30)

Indian population policy 2000 not includes
(1) free education
(2) free frorﬁ diseases

 (3) reducing infant mortality rate below 30

4) ifrsasaithe employment opportuni‘ties. | \
o1, e e et e A e s (L)

(1) TR — SR — TS — FAR O

(2) R — o — g C)Q

@ iR — faera — e

(4) o — SR — HERT —

Gas transportation pipeli %.\ sses through Kota in Rajasthan is

(1) Guwahati—B Allahabad — Kanpur

(2) Barauni — Rajbandh — Haldia

(3) Haz\@xpur — Jagdishpur
('4.} S.— Viramgam — Mathura — Delhi.

82 /M ﬁﬁ"{ﬂﬂﬁﬂﬁ%ﬁ?ﬂmﬁméwﬁ%?_
(1) wEraTg | @ e
@ s ok R @ wEIBE
Il’; which state of India is red and yellow soil found ?
(1) Chhattisgarh (2) Rajasthan
(3) Jammu and Kashmir (4)  None of these.
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83. o fordzes Fr o @ o @ e 1 veel dwr Frr ST @ 2

(1) =9 940

2) A T

(3) T THT I I5Y AW G4 A F FEl o
(4) HRAE g O |

In which House is the finance bill presented first ?

(1) Rajya Sabha \
(2) Lok Sabha O
(3) Both Lok Sabha and Rajya Sabha anywhere QO

(4) Reserve Bank of India.
84. TrAfefEa o i TsHiae SRR 51

(1)  fremdie (2) T I 1 qiee
@) TE Tl Q‘ﬂqﬂﬁ%ﬂﬁl

- Who among the following i political executive ?

(1) District Collector
(2)  Secretary of thesMinists
(3) Home Minis

(4) Dlrect(N of Police.

of Home Affairs

85. mﬁﬁﬁﬁﬁmwﬁ%m%nﬁmwﬁﬁaﬁmm
&ahz eIkl (2) HQEE
3) (4 W |
Which of the following institutions can make changes to an existing law of our
country ?
(1) Supreme Court of India (2) International Court of Justice
(3) Prime Minister - (4)  Parliament.
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86. R R W % SR T § @ -0 SfuH wifern skl Aol §
AT ?
(1) M H AYFR
(2) Al Siifaepr @1 R
(3) SO HET HI T4 BT SHHER \
(4) 3= R Wity 7 SRR | | OO

Which one of the following is considered as a fun e right according to the

Constitution of India ? 0
(1) Right to work %
(2) Right to adequate livelihooiQ

.
(3) Right to protect onefls ¢

(4) Right to get highefeducation.

&7 @wmwﬁmﬁ@mwz

(4) Eﬁ@f}@ ()  wfeE a % e

( Qaﬁw () WET HES F WG
&@ LIS (i) WTEW FHH & T

(D) Elodlo FWMHERI (iv) SIS TAEHR |

(1)  (A)-iv, (B) - i, (C) - i, (D) - ii

(2) (A)-iv, (B) - i, (C) - i, (D) - i

3)  (A)-i, (B) - iii, (C) - iv, (D) - i

(4)  (A)-1ii, (B) - iv, (C) - i, (D) - ii.
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Match the following in reference to constitution making process :

(A) B.N.Rae d) President of the Constituent Assembly
(B} B.R. Ambedkar (i) Member of the Drafting Committee

(C) Rajendra Prasad (iiif Chairman of the Drafting Committee
(D) T.T. Krishnamachari (iv) Legal Advisor.

(1)  (A) - iv, (B) - iii, (C) - i, (D) - ii
(2) (A)-1iv, (B) -ii, (C) - i, (D) -iii

(3)  (A)-1i, (B) - i, (C) - iv, (D) - i

(4)  (A) - iii, (B) - iv, (C) - i, (D) - . \

88. ‘IR e’ ¥g I T HIAGEA N It HUT ¢ ¢ O
(A) TSI el §RT AW AHETe S o $HEg

(B) T % FHY IHREAR! §RT AH ST A
(C) I ™ & e fen-fde w?)
(D) W%%ﬁwﬁﬁaﬁl%
(1) A,B,C (2) ;
@ B.C @) \Q
.

Choose the correct statement s(\e word 'code of couduct' :
liftes to be followed by Political Parties

d
idelines to be followed by candidates in Election

(A) A set of norms
(B) A set of norms an
(C) Guidelines fo%ctjon Commission

(D) Com 13@ g for voters,
(1) A,B,C l\ (2) A, B
(3) B,C O 4) C,D.

[ S TR Wated e | aAfishan fha =mamnder g

ferg = ?
(1) 29+1 (2) 30+1
3) 28+1 (4) 31+1.

According to the Constitution of India, how many maximum no. of judges can be
appointed in Supreme Court ?

(1) 29+1 (2) 30+1
3) 28+1 (4)  31+1.
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(34)

oa. faum ufkeg # AT wewl =t dear @t

91.

92.

(1)
3)

(2)
(@)

Q= Wl
= D=

How many members will be nominated in chiétative Council ?

0 3 @ 3 \
@ & @ L O
TReA W@faue % T % F ATER T i T ?

(1)
(3)

(1)

74 9 2 759 0
52 ai (4) i

By which Article of the Consﬁmﬁor@a is the Prime Minister appointed ?

74th 75th
*
52nd \ 61st.

(3)

WRE & S g1 fehar Tl ¥, 9 R
(1) @6 I H wE

(2) T wE

3) i o9 | & faited w5

4& , T 1 T T Ty wet & ol 95 |

The Vice-President of India is elected by

(1)
(2)
3)

(4)

elected members of Lok Sabha
all members of Rajya Sabha
elected members of Lok Sabha & Rajya Sabha

all members of Lok Sabha, Rajya Sabha and all state legislative assemblies.
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welt - 1 g - 11 R g A AT T 1w R

gt -1
(31) g gt

(@) T g

(A) gt gt

(3) el USRI
: T4

¥ T w T
(1) i 11 i iv
2 i oW v i
@ i iv i i
4) v iii ii i.

gt -1

() P WHRHAR
(i) FER
T
iv) o 1

Match List — I and List — IT and choo Q’rect code from the given codes :

List-1I
(A} Union list

(B) State list

o \
&Q)

(1) ii i
2 i i v
(3) i iv i

@) iv i i

NTSE(l)/ 18 - SAT-612-C
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tilist

powers

iv

iii

List-II
Computer Software
Communications

(iii) Poiice

(iv) Forests.
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94, St oI ISV &

(1) S 2 =
(3) SRy (4)  wEE |
The exa_mple of capital is

(1) Water (2) Forest
(3) Climate (4)  Machine. 0\
95. T B wHA & O
W o NN
o O

(3)  HeRI (4)

The rabi crop is

(1) Jowar %Bajra (Millet)
(3) Maize . \% Wheat.

96. WRA H H A
(1) R Red 2) Wz Iw I e
(3) TS t (4) S 3w e |
In India &ncy note is issued by
O Bank of India (2)  State Bank of India

) QB
3ARD (4)  Bank of India.

97. N WG T A

(1) WEHR @) e
@ o @ ReRR |
The source of institutional credit is

(1) Money lender (2) La_fxdlord
(3) Bank (4) Relatives.
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98.

100.

(37)

fefegerRe § el 87 &1 30T &
(1) FE 2)
(3) T @ G A (4)

The example of tertiary sector is

(1) Agriculture

(2) Fisheries

(3) making sugar from sugarcane

(4) Banking services.

(1) 3T, 2005 ()
3) fa=w, 2007 @)

The Government of India enacted fhe 1

o)

L
(1)  October, 2005

(3) December, 2007 (4)
YR ! TGILT B & K
(1) Iwra" (2)

(3) < Hied O (4)

The \&% Company.of India is

(1) Infosys (2)

(3) Tata Motors (4)

TS I
¥er Qamd |

A9, 2006

SHE, 20

AN
O
%\O

@t to Information" Act in

ber, 2006

January, 2008.

o g

ot il

Asian Paints

All of these.



